
SUPPORTING INFORMATION 
 

Radical Reaction of Sodium Hypophosphite with Terminal Alkynes: 
Synthesis of 1,1-bis-H-Phosphinates 

 
Sonia Gouault-Bironneau, Sylvine Deprèle, Amber Sutor, and Jean-Luc Montchamp* 

 

Department of Chemistry, Box 298860, Texas Christian University, Fort Worth, Texas 76129 
 
General Chemistry.  1H NMR spectra were recorded on a 300 MHz spectrometer.  Chemical 
shifts for 1H NMR spectra are reported (in parts per million) relative to internal tetramethylsilane 
(Me4Si, δ = 0.00 ppm) with CDCl3 as solvent.  13C NMR spectra were recorded at 75 MHz, or at 
22.6 MHz.  Chemical shifts for 13C NMR spectra are reported (in parts per million) relative to 
CDCl3 (δ = 77.0 ppm).  31P NMR spectra were recorded at 121 MHz and/or at 36 MHz, and 
chemical shifts reported (in parts per million) relative to external 85% phosphoric acid (δ = 0.0 
ppm).  Mass spectrometry was provided by the the Mass Spectrometry Facility of the University 
of South Carolina.  Elemental analyses were performed by Atlantic Microlab Inc. (Norcross, 
GA).  Ethyl acetate/hexanes mixtures were used as the eluent for chromatographic purifications.  
TLC plates were visualized by immersion in anisaldehyde stain (by volume: 93% ethanol, 3.5% 
sulfuric acid, 1% acetic acid, and 2.5% anisaldehyde) followed by heating.  Organic solutions of 
products were dried over anhydrous MgSO4.   
 
Reagents and Solvents.  Sodium hypophosphite hydrate and other reagents were obtained from 
Aldrich and used as received.  Reagent or HPLC grade solvents were used throughout this study 
and were not dried prior to use. 
 
Radical reaction of sodium hypophosphite with alkynes: Representative procedure (Tables 
1-2).  To a solution of NaH2PO2.H2O (18.0 mmol) in a mixture of methanol (12.5 mL) and 
dioxane (2.5 mL) were added the alkyne (3 mmol) and triethylborane (1.0 M in hexane, 3 mL, 3 
mmol).  The solution was stirred for 4 hours at room-temperature in a flask open to air, and then 
filtered.  The precipitate was washed several times with cold methanol and dried in vacuo over 
P2O5 to afford the the 1,1-bis-H-phosphinate sodium salt in good purity (typically >95%). 
 
Disodium hexyl-1,1-bis-H-phosphinate (Table 1, Entry 9).  Mp: > 250oC (dec).  1H NMR 
(D2O) δ 6.85 (d, 1JPH = 524 Hz, 2 H), 1.62-1.28 (m, 5 H), 1.20-1.10 (bs, 4 H), 0.70 (t, 3JHH = 6.7 
Hz, 3 H); 13C NMR (H2O, 90 MHz) δ 13.7, 21.6 (t, 3JPC  = 2.7 Hz), 22.0, 29.0 (t, 2JPC  = 6.6 Hz), 
31.5, 44.4 (t, 1JPC  = 78.5 Hz; 31P NMR (D2O) δ 26.4 (dm, 1JPH = 523 Hz). HRMS (FAB) calcd. 
for C6H14Na2O4P2, (M-2Na++H+) 213.0446, found 213.0446. 
 
Disodium (3-hydroxy-propyl)-1,1-bis-H-phosphinate (Table 2, Entry 1). 1H NMR (D2O) δ 
6.87 (d, 1JPH =  529.7 Hz, 2 H), 3.57 (t, 3JHH  = 7.0 Hz, 2 H), 1.87-1.70 (m, 2 H), 1.63-1.46 (m, 1 
H); 13C NMR (D2O) δ 23.9, 41.4 (t, 1JPC = 77.7 Hz), 61.2 (t, 2JPC = 7.8 Hz); 31P NMR (D2O) δ 
25.6 (dm, 1JPH = 530 Hz). HRMS (FAB) calcd. for C3H8Na2O5P2, (M-2Na++H+) 186.9925, found 
186.9924. 
 

1 of 80



Disodium (5-hydroxy-pentyl)-1,1-bis-H-phosphinate (Table 2, Entry 2). 1H NMR (D2O) δ 
6.84 (d, 1JPH =  523.6 Hz, 2 H), 3.42 (t, 3JHH = 6.0 Hz, 2 H), 1.7- 1.4 (m, 3 H), 1.48 (bs, 4 H); 13C 
NMR (H2O, 90 MHz) δ 20.8, 24.8, 31.0, 43.8 (t, 1JPC = 74.8 Hz); 31P NMR (D2O) δ 26.1 (dm, 
1JPH = 525.5 Hz). Anal. calcd. for C5H12Na2O5P 2: C, 23.09; H, 4.65; O, 30.76. Found: C, 22.89; 
H, 4.79; O, 31.02. 
 
Disodium (2-cyclohexyl-2-hydroxy-ethyl)-1,1-bis-H-phosphinate (Table2, Entry 3). 1H NMR 
(D2O) δ 6.86 (d, 1JPH = 531.8 Hz, 2 H), 1.90-1.68 (m, 3 H), 1.33 (bs, 10 H); 13C NMR (D2O) δ 
22.0, 25.3, 31.7, 37.0, 39.4 (t, 1JPC = 77.2Hz), 71.5 (t, 2JPC = 5.8 Hz); 31P NMR (D2O) δ 24.9 
(dm, 1JPH = 531.6 Hz). HRMS (FAB) calcd. for C8H16Na2O5P2, (M-2Na++H+) 255.0558, found 
255.0551. Anal. calcd. for C8H16Na2O5P2 + H2O: C, 30.20; H, 5.70. Found: C, 30.27; H, 5.76. 
 
Disodium (3-hydroxy-3-methyl-butyl)-1,1-bis-H-phosphinate (Table2, Entry 4). 1H NMR 
(D2O) δ 7.00 (d, 1JPH = 532.0 Hz, 2 H), 1.95-1.85 (m, 3 H), 1.2 (s, 6 H); 13C NMR (D2O) δ 28.4, 
33.5, 40.6 (t, 1JPC = 76.9 Hz), 70.7 (t, 2JPC = 6.0 Hz); 31P NMR (D2O) δ 28.6 (dm, 1JPH =  532.0 
Hz). HRMS (FAB) calcd. for C5H12Na2O5P2, (M-2Na++H+) 259.0241, found 259.0227. 
 
Disodium (2-trimethylsilyl-ethyl)-1,1-bis-H-phosphinate (Table 2, Entry 5). 1H NMR (D2O) 
δ 6.91 (d, 1JPH = 524.8 Hz, 2 H), 1.67 (tt, 2JPH = 18.5 Hz, 3JHH =  6.2 Hz, 1 H), 0.77 (dt, 3JHH = 
6.2 Hz, 3JPH = 17.5 Hz, 2 H), 0.00 (s, 9 H); 13C NMR (H2O, 90 MHz) δ -2.3, 5.7, 38.8 (t, 1JPC = 
77.5 Hz); 31P NMR  (D2O) δ 27.3 (dm, 1JPH = 524.2 Hz). HRMS (FAB) calcd. for 
C5H14Na2O4P2Si, (M-Na++2H+) 253.0191, found 253.0197. Anal. calcd. for C5H14Na2O4P2Si + 
H2O: C, 20.55; H, 5.52. Found: C, 20.75; H, 5.12. 
 
Disodium decyl-1,1-bis-H-phosphinate (Table 2, Entry 6). 1H NMR (D2O) δ 7.00 (d, 1JPH = 
524.0 Hz, 2 H), 1.70-1.60 (m, 2 H), 1.50-1.40 (m, 1 H), 1.30-1.20 (bs, 14 H); 13C NMR (H2O, 90 
MHz) δ 12.9, 20.9, 21.5, 28.0 (bs), 30.7, 43.7 (t, 1JPC = 76.8 Hz); 31P NMR (D2O) δ 22.5 (dm, 
1JPH =  524.0 Hz). HRMS (FAB) calcd. for C5H22Na2O4P2 (M+H+) 254.9540, found 254.9533. 
 
Disodium (3,3-dimethyl-butyl)-1,1-bis-H-phosphinate (Table 2, Entry 7). 1H NMR (D2O) δ 
6.83 (d, 1JPH = 527.1 Hz, 2 H), 1.66-1.34 (m, 3 H), 0.71 (bs, 9 H); 13C NMR (H2O, 90 MHz) δ 
28.4, 29.7, 33.7, 40.1 (t, 1JPC = 78.5 Hz); 31P NMR (D2O) δ 27.1 (dm, 1JPH =  512.0 Hz). HRMS 
(FAB) calcd. for C6H14Na2O4P2 (M-Na++2 H+) 237.0422, found 237.0412. 
 
Disodium (2-ethyl-ethyl-ester)-1,1-bis-H-phosphinate (Table 2, Entry 8). 1H NMR (D2O) δ 
6.86 (d, 1JPH = 531.8 Hz, 2 H), 3.99 (q, 3JHH =  6.7 Hz, 2 H), 2.60-2.40 (m, 2 H), 2.19-1.86 (m, 1 
H), 1.07 (t, 3JHH =  6.7 Hz, 3 H); 13C NMR (H2O, 90 MHz) δ 12.8, 26.6, 40.1 (t, 1JPC = 77.7 Hz), 
61.5, 173.7; 31P NMR (D2O) δ 23.4 (dm, 1JPH =  532.8 Hz). HRMS (FAB) calcd. for 
C5H10Na2O6P2 (M+Na++H+) 296.9646, found 296.9646. 
 
Disodium (3-methoxy-propyl)-1,1-bis-H-phosphinate (Table 2, Entry 9). 1H NMR (D2O) δ 
6.84 (d, 1JPH = 529.1 Hz, 2 H), 3.44 (t, 3JHH =  6.5 Hz, 2 H), 3.18 (s, 3 H), 1.90-1.65 (m, 2 H), 
1.60-1.35 (m, 1 H); 13C NMR (H2O, 90 MHz) δ 20.8, 40.3 (t, 1JPC = 76.2 Hz), 57.5, 71.0; 31P 
NMR (D2O) δ 25.3 (dm, 1JPH =  529.6 Hz). HRMS (FAB) calcd. for C4H10Na2O5P2, (M+H+) 
246.9877, found 246.9867. 

2 of 80



Disodium 5,5-bis-H-pentanoic acid phosphinate (Table 2, Entry 10). 1H NMR (D2O) δ 6.85 
(d, 1JPH = 527.1 Hz, 2 H), 2.22 (t, 3JHH =  6.4 Hz, 2 H), 1.70-1.35 (m, 5 H); 13C NMR (H2O, 90 
MHz) δ 20.2, 23.8 (t, 2JPC = 7.21 Hz), 33.7, 42.9 (t, 1JPC = 78.5 Hz), 178.4; 31P NMR (D2O) δ 
25.8 (dm, 1JPH =  527.5 Hz). HRMS (FAB) calcd. for C5H10Na2O6P2 (M+H+) 274.9826, found 
274.9836. 
 
Disodium (4-phenyl-butyl)-1,1-bis-H-phosphinate (Table 2, Entry 11). 1H NMR (D2O) δ 7.16 
(bs, 5 H), 6.84 (d, 1JPH = 524.8 Hz, 2 H), 2.50 (t, 3JHH = 7.0 Hz, 2 H), 1.70-1.4 (m, 5 H); 13C 
NMR (D2O) δ 21.3, 31.1, 35.4, 44.2 ((t, 1JPC = 77.7 Hz), 126.0, 128.7, 128.8, 142.9; 31P NMR 
(D2O) δ 26.0, (dm, 1JPH = 527.5 Hz). HRMS (FAB) calcd. for C10H14Na2O4P2, (M+H+) 
307.0241, found 307.0227. 
 
Disodium (3-aminopropyl)-1,1-bis-H-phosphinate hydrochloride (Table 2, Entry 12). 1H 
NMR (D2O) δ 6.87 (d, 1JPH = 533.2 Hz, 2 H), 3.02 (t, 3JHH = 7.03 Hz, 2 H), 2.10-1.80 (m, 2 H), 
1.66-1.43 (m, 1 H); 31P NMR (D2O) δ 26.8 (dm, 1JPH = 534.0 Hz). HRMS (FAB) calcd. for 
C3H9NNa2O4P2, (M-2Na++H+) 186.0085, found 186.0086. 
 
Disodium [N,N-(dicarbobenzyloxy)-aminobutyl]-1,1-bis-H-phosphinate (Table 2, Entry 13). 
1H NMR (D2O) δ 6.8 (d, 1JPH = 526.8 Hz, 2 H), 2.27 (bs, 10 H), 5.11 (s, 4 H), 3.58 (t, 3JHH = 6.7 
Hz, 2 H), 1.66-1.43 (m, 5 H); 31P NMR (D2O) δ 25.5 (dm, 1JPH = 526.0 Hz). HRMS (FAB) 
calcd. for C20H23NNa2O8P2, (M-2Na++H+) 468.0977, found 468.0964. 
 
Disodium (3-oxiranylmethoxy-propyl)-1,1-bis-H-phosphinate (Table 2, Entry 14). 1H NMR 
(D2O) δ 6.88 (d, 1JPH = 529.4 Hz, 2 H), 3.77 (dd, J = 2.0 Hz, J = 11.4 Hz, 1 H), 3.57 (t, 3JHH = 
7.3 Hz, 2 H), 3.28-3.14 (m, 2 H), 2.78 (t, J = 4.0 Hz, 1 H), 2.61 (dd, J = 2.9 Hz, J = 4.4 Hz, 1 H), 
1.92-1.72 (m, 2 H), 1.64-1.46 (m, 1 H); 13C NMR (D2O) δ 21.3, 40.8 (t, 1JPC = 77.7 Hz), 45.2, 
51.7, 70.3, 71.1; 31P NMR (D2O) δ 23.3 (dm, 1JPH = 529.2 Hz). HRMS (FAB) calcd. for 
C6H12Na2O6P2, (M-2Na++H+) 243.0187, found 243.0187. 
 
Disodium hexyl-1,1-bis-phosphonate (Eq. 3).  Ozone was bubbled into a solution of disodium 
hexyl-1,1-bis-H-phosphinate (1.00 g, 3.88 mmol) in water (30 mL) at 0 ºC.  The temperature of 
the solution was maintained between 0 ºC and 10 ºC during the reaction.  After 6 h, the ice bath 
was removed and nitrogen was bubbled into the reaction mixture for 3 h to get rid of the excess 
of ozone.  After concentration in vacuo, the residue was washed with cold methanol and dried 
over P2O5 to afford the disodium hexyl-1,1-bis-phosphonate (1.04 g, 92 %) as a white solid. 1H 
NMR (D2O) δ 1.87-1.51 (m, 3 H), 1.41-1.31 (m, 2 H), 1.20-1.05 (m, 4 H), 0.68 (t, 3JHH = 7.03 
Hz, 3 H); 13C NMR (H2O, 90 MHz) δ 12.3, 20.6, 24.3, 27.7 (t, 2JPC  = 6.6 Hz), 29.9, 36.6 (t, 1JPC  
= 117.7 Hz); 31P NMR (D2O) δ 22.1 (s). HRMS (FAB) calcd. for C6H14Na2O6P2, (M-2Na++H+) 
245.0344, found 245.0354. 
 
Compound 1 (Scheme 1).  To a solution of epiandrosterone (1.69g, 5.82 mmol) in CH2Cl2 (20 
mL) at 0 ºC, was added pyridine (1.41 mL, 17.46 mmol).  The solution was stirred at this 
temperature 5 min and propargyl chloroformate (0.58 mL, 5.99 mmol) was added dropwise.  The 
resulting mixture was stirred overnight at room temperature and quenched by adding aqueous 
HCl (1 N).  The solution was extracted with CH2Cl2 and the combined organic extracts were 

3 of 80



washed successively with saturated aq NaHCO3 (3 X) and brine (1 X).  Drying and concentration 
in vacuo afforded compound 1 (1.94 g, 90 %) which did not require further purification. 1H 
NMR (CDCl3) δ 4.71 (d, 4JHH = 2.4 Hz, 2 H), 4.59 (sp, JHH = 5.3 Hz, 1 H), 2.52 (t, 4JHH = 2.3 Hz, 
1 H), 2.44 (dd, 2JHH = 19.0 Hz, 3JHH = 8.5 Hz, 1 H), 2.17-1.12 (m, 21 H), 0.86 (s, 3 H), 0.85 (s, 3 
H); 13C NMR (CDCl3) . δ 12.4, 14.0, 20.7, 22.0, 27.5, 28.4, 31.0, 31.7, 34.0, 35.2, 35.8, 36.1, 
36.8, 44.8, 48.0, 51.5, 54.4, 55.2, 75.7, 76.8, 78.4, 154.2, 221.5. HRMS (EI) calcd. for C23H32O4, 
372.2301, found 372.2294. 
 
Compound 2 (Scheme 2).  To a solution of NaH2PO2.H2O (1.02 g, 9.67 mmol) in a mixture of 
methanol (7 mL), acetone (4.5 mL) and ethyl acetate (4.5 mL) were added alkyne 1 (600 mg, 
1.61 mmol) and triethylborane (1.0 M in hexane, 1.61 mL, 1.61 mmol).  The solution was stirred 
for 4 hours at room-temperature in a flask open to air and then filtered.  The precipitate was 
washed several times with cold methanol and dried in vacuo over P2O5 to afford the the 1,1-bis-
H-phosphinate sodium salt 2 (165 mg).  The filtrate was concentrated in vacuo and redissolved 
with the same mixture of methanol, acetone and ethyl acetate.  Sodium hypophosphite hydrate 
(1.02 g, 9.67mmol) and triethylborane (1.0 M in hexane, 1.61 mL, 1.61 mmol) were added and 
the resulting mixture was stirred again 4 hours at room-temperature.  As previously, the resulting 
precipitate was washed several times with cold methanol, and dried over P2O5 to afford sodium 
salt 2 (254 mg) as a white solid.  The overall yield after both runs was 48 % (419 mg).  1H NMR 
(D2O) δ 6.88 (d, 1JPH = 528.9 Hz, 2 H), 4.41 (bs, 2 H), 4.14 (bs, 2 H), 2.33 (dd, 2JHH = 19.3 Hz, 
3JHH = 9.6 Hz, 1 H), 2.1-0.50 (m, 23 H), 0.72 (s, 3 H.69 (s, 3 H); 13C NMR (D2O) δ 11.9, 13.7, 
20.5, 21.0, 21.7, 27.2, 28.2, 30.8, 31.4, 33.7, 34.9, 35.4, 36.0, 36.5, 40.7 (t, 1JPC = 77.6 Hz), 44.4, 
48.4, 51.1, 54.1, 67.3, 78.4; δ 31P NMR (D2O) δ 24.9 (dm, 1JPH = 529.5 Hz). HRMS (FAB) calcd. 
for C23H36Na2O8P2, (M-2Na++H+) 503.1963, found 503.1975. 
 
Compound 3 (Scheme 2). To a solution of 2 (200 mg, 0.37 mmol) in water (15 mL), at 0 ºC, 
was bubbled ozone. The temperature of the solution was maintained between 0 ºC and 10 ºC 
during the reaction. After 1.5 h, the ice bath was remove and nitrogen was bubbling into the 
reaction mixture during 3 h to get rid of the excess of ozone. After concentration under vacuum, 
the residue was washed with cold methanol and dried over P2O5 to afford the disodium 1,1-bis-
phosphonate 3 (167 mg, 79 %) as a white solid. 1H NMR (D2O) δ 4.40 (bs, 2 H), 4.16 (t, 3JHH = 
6.4 Hz, 2 H), 2.31 (dd, 2JHH = 19.6 Hz, 3JHH = 10.8 Hz, 1 H), 2.03-0.50 (m, 23 H), 0.70 (s, 3 H), 
0.67 (s, 3 H); 31P NMR (D2O) δ 24.9 (dm, 1JPH = 529.5 Hz). HRMS (FAB) calcd. for 
C23H36Na2O10P2, (M-2Na++H+) 535.1862, found 535.1861. 
 
Diisopropyl hexyl-1,1-bis-H-phosphinate (Eq. 4).  To a suspension of hexyl-1,1-bis-H-
phosphinate (500 mg, 1.94 mmol) in toluene (25 ml) under nitrogen was added trimethylacetyl 
chloride (0.86 mL, 7.76 mmol) and isopropyl alcohol (1.19 mL, 15.52 mmol) at room 
temperature.  The resulting solution was stirred for 24 h then concentrated in vacuo.  The residue 
was partitioned between EtOAc and H2O, the organic phase was separated and the aqueous layer 
was extracted with EtOAc.  The combined organic extracts were washed with brine, dried over 
MgSO4 and concentrated.  Purification by chromatography over a silica gel (100 % EtOAc, v/v,  
EtOAc/MeOH 1:1) afforded the ester (359 mg, 62 %) as a colorless oil: 1H NMR (D2O) δ 7.3 
(dm, 2 H), 4.70 (bs, 2 H), 2.30-1.40 (m, 9 H), 1.35 (bs, 12 H), 0.90 (bs, 3 H); 13C NMR (D2O,) δ 
14.1, 22.3, 23,4, 24.3, 28.6 (t, 3JPC = 6.9 Hz), 31.7, 39.7 (t, 1JPC = 84.3 Hz), 50.4; 31P NMR 
(D2O) δ 29.76 (dm, 1JPH = 568.7 Hz), 29.78 (dm, 1JPH = 568.7 Hz), 30.29 (dm, 1JPH = 565.9 Hz), 

4 of 80



31.38  (dm, 1JPH = 569.1 Hz). HRMS (FAB) HRMS (FAB) calcd. for C12H28O4P2, (M+H+) 
299.1541, found 299.1536. 
 
 
 

5 of 80



eeeesq Edd@d of e@5+roq +qq o o

=E33Of {!Oa= ddP@o5Ed€ -o! x E
+t- +' {+- rJ+ E

- i - 4 DO<o P H

a;Eool
rDol@
ozcd@ao
O@HADNE
c = (, 03 ! !
tHH6!C
---l{-
m PP i NH Pn l
F ON M OO P

! ots F F P@F!z I
o.o..5O'oNN
!<tso5!o@500oQoo
o@ < I FO. {O @OO OO!@. XNO
oo{<oF loNsP NNOSSOO@O EOO

5er.r. 'u! 5@@ d
67=r J€oU9O

+@dr.r'3

FU)

o-r
mDc)
@6)H
a q, f f >
H oor
zNPdd

ooo 6 a
f eooNo o
f<:5 ooooae

Ja a - € o ir

H

a(t
!-!

--{ D:
F <o

tNod
Nl 50
o@ @P cN

N@{!0q.
F U oo

aloo @50@oo oo

O d< @ {
!.f 6 0 0

:
,'!

i't

t4

.J

1

6 of 80

jmontchamp
Placed Image



z
oo50NtsO

r
x

a
NNNO@OF
@@@AAAM
@qo6!@o
OPOOAFC

@@@FOtsz
ONFOAOc)
@Poo!N<

NNNNNNE
a550@@!
.,...'= FOAAO!
!oN10A
PNOPN@

m

O6NOONI
5@PU!N{

@@oN@@

tl l'

_28.602 ------- 
aza.+zt

_24.302 -- -- ----l\-zq.rzt

7 of 80

jmontchamp
Placed Image




st-l
I
4-J

,'

^'oa

I \ts'
\;

i; .'l

I
o

8 of 80

jmontchamp
Placed Image




O\O@-lOrCnA(rN)HZ
trl

E(nF-l

(

'i

rU
FPPP|.PT-pr-r'O
I!I.JNPts+tsPtsOF-'I
(n+lJ-r-J-Jcl)POCOZ
(r(rPCo-l('leF-lOl'JrJ
N)co\oo(r@O)UiFf,Co

(o{POZ
Po-rl!LnLA
@-lo)@H
-jNO)Lr€
(nroN(])<
OOcoO')

O O P \o N A I-!-\-L-H [47916

tsISNN)N)N('|5lFE
U)PNCO@\OHOlF-]FU

' Ma+a -JO\OO\.ONJUl\O5\O;<
(, (/.) f.) Or O) (n Fr tO E H
O'.\|5-]A\lO-l@CO

=r
ts a FJ I'J s N--4-E--U)-HFooz
c) -l o (\ 6.\ \o o to co \o rl:--

UJASciTcr)clr-]tOc)o
PcolOA(tO)PN)O@iE
O\O@@(rt!(l-Jo-\aN

---l-JLn@o.rNN)\O+Or

7J
trl

A I!l5NPts('ts-
touJ\oEN-JOCO(tCO
N). \.o. ts. |-]
' \O' tr\OO' rrJiraZ
rON)o.rO-l (nUJlEcoti€
UJIOO|tr'LTo)N)aN\g

O)

(o
P

O

O)
-l

O-)

-]
UJ
-]
O
o.)
O

c)
O

P

@

o-r

O
\0
N
o.)

\o

(n

@

O

t\)

w(-)

-f*

t*"

Y
U
€)

fl'
}t

-**-u

N(O- pl.stol
N

--22.024'
- 21.6341

- 13 73O

9 of 80

jmontchamp
Placed Image




+o q o
'.O P x
-J& !
o<o P

o

ODN
o= E

N

XNO
EO5

-tD

>o
ze
UDH
=u) HH
-.'| f -l
+oH
md50
F ts Fts@Z

' g @' o
o oP@@

PPO PO O@.

oooAoe@4ts

v)
!
m
c)

fJD
oo-

o{o

oooNo o

o f o@ 6+f o Q
ddP@ o 6E d{ =! = = o f {E o +f

+€3 n {ia

m

-hQ

P@@o
a'o.
P:c)ooo
oSfFOO.OI
ooo f o@ oo@AP

9d<o{ rirr{@ rt 5e-'J'
-.Jooo !!+4,8p f oEf J

o!
eoF
^HO- '!@or

-!fr>
!o-uro
r i >=a a

<oH
I Al *z

lP ooo 6)

N N @! FNO q

tsoof
oPoo oNoNO@ e f<lf

9E JO€ d
J€ o! P o
+ @ d -.-.3

:f * ol
-L

{-

@

!

r
3l
;l

* to @l
-l NI

:l
3l

:i
E 1.o I

Nl
5l

;lL
-[
ol
oL

10 of 80

jmontchamp
Placed Image



i@ g o
-.O !) x
JJd E

>o < o ts
oo
cd(h6
HO}N
@ o= E
H O! C
{- HM
OP
=N

xNo
E05

9g 50@ d
J{ oE g) o
+ @ d i.r.3

@
-!
-fr
DO
OH
(, aa>

NP dd
o@o

ooo a6
eooNo o

o f eo g+l !) o
++Po @ g! d{

eoooqe
+'t 3 t

a

m

c

-m

{<
o@<r
oo{(< oP

au)

-{ D:
ts <O

I NO d
NI AO
@F @P EN

N@F!e6.
N U OO

oNoo @Po@o€ ge

{E o +:
{ ni

ON

F @A!

I

>
z(,
3

-.t
-1 N
ro
F P tsOF!

.ao.o

PFO OO{@.
oooaaoo@o

r
U'
U'
z

o d< @ € 'i - - { @
-.=ooo EEiiEE

l< I l

Jl

wI
Ht
&
q

rc

\
o

e

cn
e

F

(/)
e

N)
o

11 of 80

jmontchamp
Placed Image




saeeee Eddod otq@6+30)@ i@e o
3!33of {Eon: ddts@oEEd{ 'o!, x
+t= + {-+,1 JJd E

a - ! + >o<o P

hl>o:
ozcdu)@
O U' H gD N
c 3 (, o= !
! H H O! C
r+--l-
m tsts + NH m
! oN m oo ts

! oP F P tsOPlZ
o,o..Ao.ON
!<P@a!ooA6@ooo
oo f - tso' !o ooo oo!@. xNo
oo{foP lUNAP aaoaaoo@o EoA

-i a i € o +J Jer.r. ')! Jo@ d
EEiaE! :6 oEJJ J{oEgo

E J {@dr.-.3
I a ::!

HOa!
ar,o-m
-!m>c)
o-@oH
1 >3 (h @ aa>

P <o H oor
fNodzNPdd

ot 5o c) o@o
oq oF cN cg
oo {o a. ooo aa

o o f oooNo o
oooooo eo J<:f oo@oeq

N

O d< @ €
r.f o o o

=

wIrJ
&

0l

{

12 of 80

jmontchamp
Placed Image




z
!ooa@NFa

r
X

a
ts@A@AAAF
@oPNOOOm
OANOFtsN€
oooooooc

N O.P @ 6 ! 6 Z
5!o@ooNo
NOA!O@O<

NSAAOOO!
@OPNPFF!

@@@APN@
5O@NPPN
oAAAO@P

=m
!NONOOQ=
o@P@oPol

AAO!@P!

s
a

)

F<<tu
-^d\ 

\-

v*/ " 
\\)

C.:' \ e aa"

13 of 80

jmontchamp
Placed Image




no a o
-.O D X
Jrn E

>@ < o
c)o

cd(ra
H >> N

H -! C

oo
z

X NO

!
ap@

aQ-m
!r>c)
ru)c)H

<o H oo-
d z NP dd

c) o@o
cN cc

o@o a a
o o f oooNo o

o = aa 5 na fu a
ddP@oqEd{

2d<a< r---{@ n- fe-.-. ')Er@Qd
-.fooo EEiiE! -g 683! -{o!Do

E ! 
*:d:::

i
F

z
@
3

iN
mo
v F P&ts!

. 5d. @
o oado

FtsO OO!@.
ooeaAoo@o

{E O jf,

t +:
o

c)
o
c
!

F ON

jt 3 +

oa < =
o6{< ots

o

fQ
-l

\
-l

(J|

Al

I
l

'1
I

l-1
II

Ii
I

N)l
--l -l

Ij

I

_l
I

l
J

P
-t

14 of 80

jmontchamp
Placed Image



io e o @
-.Og x 6
Jr+!l

Do<o ts H
ool
ofts
cd@q@
H 3D N @
(, 9= E
H -! C !
l-r!
HNM
OF
== N

XNO N
EOq O

t!! 5@o d
J{ @E I o
+@dr.d.3

@
NT
-E
Dc)

@ J=>
OO-

NP dd
o{o

oNo a@
oooNo o

od<o{ raa-{@ -
r'5000 EE+iEE f

eoF
oHO

a(rO
-Er

f -l >=u,
<o H

I al d2
lF o@o c)

oP ooo q
@ N QO PNO A

NO O . . O
oNoa oNoN@@ o

I

z
U)
=

m*a
FPFP@

. E @. O

o @ P@@

FFO PO O@.
oooaoe@AF

O I e@ 6-ltJ !, o
ddP@ o 6E d€

t< I f

3E 3 3 0I €E O nf -+,{3 + €+r-

d

o
o

-m@
Fa

P @ oo
O ' O.
ts f O o oo
oa : ts o6' oI
oqo J oO oo@aP

H

N)

P
e

;oo
:l
ol

I

t o
' ..1 ct'
-L

t

.L

;{

.[-

il

I

=

15 of 80

jmontchamp
Placed Image




@F

o€
!C
.fr
!z
NO
{<

N!

.=
!

z
OOA@NFO

m
X

NNNOA

N!5@N
@@NON

NNNNN
OAAO@

OOPF@
oPa@5

I
r

PP O

a@!ol
@A
o!

;;
_28 .467

_24.L34

16 of 80

jmontchamp
Placed Image




i)
rO ct
rrl o
>B

rg co --l Oi Ct a (! l! H XrCt
o
:p

HtsPPtsHHFPtsU't
NNHFP+I-'OOOO
NF\OCOo.)NO@F-lo-
(tr-t@N-lt!(r-l-tz

UJ(OOL'H(,CFHtsIiU'
o
PJ
7i

LfH

:: (r\oouJO(,uiijOtr.l F.
('rcoA(rOOtU)(,COHO
(tPo.r(talOo)lgHOat
(rN)asO\(raco(r:rts'
(O-lN)('rPo-r(oA+4F
xxxxxxxxx Q

F
t*rl

uJmco(,r.o(,s(rtoti
OUJCOON)PCIOF.

H(rcoHO(rCr(,--liE
-rou)--l-lLraLr(o€

oPP
AECTOT-J(OIOOUJ
(r-lO)(,JOOlOo.1 CO
-IPPUJP(nO('tN

(nl!o.\PCOUJo\A\OiN
(0(nu)a(r@(rP(oN

PN)Nt!UJUJ,sA6'\

P:::::3:: (TOCOIOOLO-IOOFO
UJHH-]O(O6o.I\OTU
N\Ol!P\lco('COtO<

=/-l -
9/*
V

0
n=o

r"(}
tP

068
765
998

ooTJ
e711
812i

:1: JJZ

47
43
39

31
27.
24.
20.
19

it

17 of 80

jmontchamp
Placed Image




-..38 I g
rJt E .r.
O<A P F

=P^

-=9 3 H o= E
i! g !

N

xNo
Eo6

-a

>7
A.^
3;;

1 NH

+ - PoP{z
ao' @

n o oa60

g 3S9.3=;A;

33 ?€q: ;43= +{ =
a

!<

o o€<

o

-il tsF
F ON

{oP
,o.
P @a

=Po'!
ots loNA

Ja a t € @

!E ++!E
EJ

og 5@@ F
r{ bE I I
+@dJ'r'a
o o f J!

a

D:1

i; i3>

NP dd

ooo

ooo @@
oeoNO O
oo@o q e

t q J'J'
qa=-

!

o
r
U'
@

z

:v
9H

n-:

JY
r*?6

lNOd
N ao
iPr QP cN

NO@!oY^

^;-3 bL-i"to;;

3i3sH3€3?

3* t t

a&<@t
r,JO O O

-=l

-I
\E5c

r6
I

3i 4
1T

EI

18 of 80

jmontchamp
Placed Image



+o e o -.O ') x
JJd !

>o < o ts
c)o
cdvta
H =D N
u) 9z ?
H -! g

H NT
OP
zo

ooo
XJo
E@O

-r I i € o +- JZr.J' O! 5oO d
!€+rrg! Ig @E=J r{oE9lo

! r 
;l:d:':':

AFU)

aao-n
-!m>c)
o-ac)H
-t >: @ @ aa>

P <o H oo-
tNo+Zpts*d

oaooooo
N! @ts CN gC
PP !O A. OoO 6A

oo f oooNoo
oooooo eo f<Jf oooeeo

N

O f qo 5+rf !, @
ddPo o 6E +{ 3E 3 3 o r €E O +f

-i€3 .n €ia

m

o
c

-M PF

F ON
! oP

o . o.
!<Poa!
o@fIPu.!@
oo{ 5 ots !UNAP

I

z
U>
3
--l
-{ N

F P P@P!
.AO'@

OOo oo!@.
NNOAAOO@O

oJe<aa
J.5@ O O

l

z
5@NP9

x

reerg o5tsoz
@oooO

ilii:1 =

19 of 80

jmontchamp
Placed Image




qeqeoe Ed+@d oleoS+f o4 +4+
5;5tot -qO+r ddF@@6!d{ ''Ou x 6
4a=-+- 

--€+i rJ+ E I
i r ! -l Do<o P H

oF()ol
nDa:F
ozcdu>ab
o @ H 3> N @
E = ut 9= E
! H H --O g €
-+f-'l-JE
roloHNm
F�amdso

ts_@OoFFPPOZI
o . o' ' g @' o N
e:oocoooP@ooQoo
bs 5 P oo. or FFo Poo@' xDq N
6Go5ob ooooe ooeaoe@5P Eoo o

a
l< f l

oE 5@€ d
r€ @E P o
+@dJ.J.3

(t
n!
-r
>o
oH
U, ==>

oo-
NP dF

oNo aa
oooNo o

'ue<at -ra1€@ +
!.5oOO !OrriEE f

OT
aoF
6Ho

a(rc)
-!m

Eo-a
f + >=u>

{O -
I al +z

Pt o@o o
P@ OOO tr

o N O@ PNO @

oa u . . o
oNoo @aoN@@ e

'*-

I\\

)

(

II

\I
t-"

' -<<.

u -.
?, tO

P
N)

o

{-

ol

rl
t

-t 3.1 ol
"L

!
@

I

20 of 80

jmontchamp
Placed Image




no o o o
-.OP x s
:rdEl

l>o<o F H
ool

cd@a
H O> N
(, @= ! P
H O! C @

H NM

z=
N

X NO N

r{ oE p) o
+ @ d:. i.=

U>
T!
-m

OH
(/, ==>

NP dd
o@o

ooo 66
oooNo o

J---{@ 'trr

ev
HO

aurc)
-!r

-1 >) @
tsl<o H

fFoFlz
@P P@F c)
oo @oa cF
@! ala a.

oo
otsoloa qo

\
/\

/ 
- -t --;c",

- /-i\ /
{ ,'z v / \
v 

/ r {' (,
/\-.>

-<' (t-

c,, t
c." lr'

--t

z
a
3

I
{P
mo
F P POts@

PP' O@t o
ooo aa@{
ooo oo@P.
ooo 5 50No@

=E 3 3 O f {E o +l
+t= {, €+i

I
m
^
c

-r
F{

@!q
or@!
!<N!5c)
o@<=oq.oP
ao{< oP eONoO

o J o@ 6+f o o
ddP@ @ 6! d{

f
f < f :

O +< @ €
-.f @ O O

f

f\)

f\)

f\)

P

ct)

P

F

P

N)

t9
e

@

ct)
e

5
a

21 of 80

jmontchamp
Placed Image




of qocln3o@ +@e o
ddtso o 6! d€ -.O I x

JJ+ O
-l Do<o P
;€oo
DOJ
zc*u)6
UD A qD N
= a s= €

-ll-1
-.'| NH m

nooo
iF P POF{Z

.56.@N
o @aoo ooo

FtsO Oo{@. XNO
ooo55o6Oo E OO

E++@d
€E o +f

€ ia

5g-.-. 9! 50@ d
oE J J J{ @p O o

+ @ + J.-.3

Xo oa!
o-r
rDc)
aoH
U' Q1 fJD

ZNP-d

o@o aa
: oooNo O
f< f f ooooqq

r
o

-
FON

.o.
F 05!
tsO. {@
!ON5F

au)

-.'| >f
F <O

lNod
NI AO
@A OP CN

N@A{OA.
N O oO

oPoo Ooo@oo eo

3E 3 3 0 f {|€3 +
1

o
{(<
oO<I
oo€< oP

Ji a I € @ iJ g+<64
r.Jo O O

22 of 80

jmontchamp
Placed Image



H

z
A@NFQ

d
x

NNOO!

oo6Po
5ts@AC
....m
aoPoz
ootsO()
@aoo<

NNNN!
a5@o!
....3
500@
o500
o!oP

NOON=
ooFo-l

-28.93L
-28.800

_24.547 ----.---..-'"------------24.406

23 of 80

jmontchamp
Placed Image




Ed+od of q@E+:9q +qt9 O @
=;b+i +-ts@@d!d{ -'oo x 6 -a+i Jrt E I

- si -i Do<o P H
EFc)OH
;Dorl
()2cd(r@N '<5@HGDND

- i ? c.=2 @

;-ir{--9
hoioHn!
iandaoo '@oovPPPoz

.- O. . E@! O N

o oo o oP@o ooo
oo. o- Ftso Poo@' xNo
5qose oooaoa@5P ! oq

o
O5 J P
o60 f oo

3u 3 3 0 f
+€ 3 +

ON

{{oo

5 o r.r'
AE=J

:< f J

u-1] 
= l*

a\- f

LJ-_ .. rr*^'.#

r!! 5o@ -
J{ o! 9) o
+@G J.r.=

@
a!
-r
>o AH

Z6 ::>
oo-

NP dd
o!o

oNo AA
oooNO O

Jaaa{o -41

€E i+E€ f

OF
HO

alto
-!h
o-a
I >= v)

<o H
totz

tP ool O
!o ooo g
o@ Poo 6

o
oaoNoo e

',e<aa
J.f @ O O

il- -L

-f Fl

NI
sl

t

i.li

*-5*

I
--}i

N

5
o

o

24 of 80

jmontchamp
Placed Image




H

z
Oq5@NPQ

m
X

a
NN@OO6F
Poeo@Qm
SNoNOOO
SUOio€c

N@@NooZ
66ts!O@O
oo!@!Q<

NA5!!!!

.'..3
a500@!
N@{O@O
ooo6qq

=m
6)

!FtstsOF=
N@o5o!+

r;;;;*

25 of 80

jmontchamp
Placed Image




of qo6il0)o +oa o
ddtsooSEd{ -.oo x

Jrd E
+ >o<o F
EoO
DOJ
zcd(ra
A T OD N
= (t a3 E

-'l-{r'
--l NH tsm
rooo
F P P@P!Z

.ao'oN

ooo oo!@. x No
NNOSAoOOO E O5

5q-.J. o! 5o@ +
aF=J '{og')o

$ @ d -.r.=

v@
oa!
o-r
r>O
aoH
@ @ f r>
H OO-
zNtsd-

o@o aa
f oooNo o
=< I I oCoOee

Eddod

{! o +I
{ +r

-r - - { o i-

n€ 3 n
-

r

-m

!(<
oa<-
oo€< oP

3

H

au)
E-!
fo-

{ >J
F <O

rNod
NI AO
@N @P CN

N@O!OA.
N O OO

@NOO @OOOOO gO

ON
!oP

ts @a!

0n<qa '.5@ O O

l2

F]-

r:

\

q)

€-

5_

(^) _

N)

26 of 80

jmontchamp
Placed Image



o)
F

cd

N

l'\)

f\)

\

N
q)

N)
5

N)
(Jl

-
=

-29.720

_25.253

-25.105

27 of 80

jmontchamp
Placed Image




v"
7

,6-
L,|.J

<-,
,5

, ''. I

\

28 of 80

jmontchamp
Placed Image




rc\l

*
ra

, ift "1JlC

29 of 80

jmontchamp
Placed Image




3333r*;38 ]q[ : J >o<o P
-ioo
Dof
2 c +-a 6
6HoDN
= (, =-2 HF

4+-J
fNH@r
ri oo o
! P Pots{z

.Ao.6N
o &Ao@ ooo

tsPO OO{@! XNO
oooaSoooo E oo

eeqegq E+d@+
=E 3 3 0 f tE O t:
.{3 n =.;

m
o
o

-rPF
FON

{ots
OtO!
{ (< P 05!
o@ (< = Fo. {o
oq{<oP !oNsP

opa
ioaT

auro-h ;rmDo

i i= E I rri =6 ;i oo-
fNotZNF+d

NAOoo@o
ilr oi sN ctr
oo {o @. o@o 6A
,.- .. OO : OoONOO
o@e@oo ao f<ff oo@oqe

+J f qJ.* OE 3@@ d

:E aE=J -{@E99 'a r a { o
EE ++E€

',r<@€
J.5@ O O

N

o

30 of 80

jmontchamp
Placed Image



H

z
o50NPo

fr
x

n
NNo@oi0
@@AAAN
ooo{@o
6NOOPc

6oF@@Z
oooo@c)
6!oOO<

NNNNN!
aa@o@!
,....= P@Ao{
!o!N5
P@PO@

m

o
SAAAP-
o50501

oaoao

r-?8 -7 49
28.625

--1- 28 . 47 1

-24 '305
-24.!7I

31 of 80

jmontchamp
Placed Image




qqqego 3dd@d of go6r,=9@ +@o o o
-E==Of {!O+l d+P@ott€d€ -.Oo x 6
+{f + {n- 1J+ P I

i r s -{ Da<o P H
OFc)OH
m>Ofl
o=c+u)aN
o u, H qD N o
c = (, s= E @
E H H =! g
_{=l-JE
fr O -t O H Or ?
vondaoo

FObO;EPFF@Z
o.0,'g@.oN
P3()oooo@ts@oooo
O5 J P OO. O- tsFo FOq@. XNo
ooofoo oo@5P oooaoeosP qoo

oE 50A d
-{ oE O o
n @ + J'r'3

U>
n!
-m
>o
C)H
tA =3>

OO-
Nts d-
o!o

oNo oo
oooNo o

J< 5:

O+<o€ -aa1{o It
J.50 0 0 EE {+EE f

EJ

qov�
oHO

aoo
-!m

Eo-@
i { >=@

<OH
ro*z

tP oot c)
{o ooo c

o N oo FOo 6
soq'.O
aooo oNoNoo e

?'1
v
(,

,r(
\
/* 1-t'l'

-{, j

u?Y 5 Q;
Y* * F

[* 5l
'l

-l
t

_t 3l sl
-[

t
3t
FI

Lcu

N

;{

E

=

32 of 80

jmontchamp
Placed Image




F!

5
fa
o
-r],
o,
ts
OJ
at
o
o
ru
(D
OJ
^
t-

q
cr
t-.
iJ
a

rc
L-I]
N

O)Lra(TJNPX

tsPPPHPTO
IJN)N)PI'PO
LrPP@O)OH
-I-I'FPcDUJZ
N)NCTTOCO\0F]

E
NtsN('N) T']
N)UJ(-nts-l\OH
al!otoLncoo
O)(t!sOAU)E
-i-lH(rJ6AFl
xxxxxx

p

AN)lF\OAtsTi

?333::' (n(gpo:r_l_t:E
(nUJ\O-lP(nFl

N)AAO)o.)lO
!o-l@oJ\oco

::3::3
otuJcocoo\o:x
lO@-lAo.)ON

PI!NN)('A

:::3 3 3
\OtOLnOOTOIFC
(r(J]OAo.)COFO
O-l\Oo.TOJOOK

- 12 930

of:*
rl t

\

/3
, "_4

v, k- L) :'
{".l

_ 43 688

- 30 663

-- 28 046

21 509 -__ 
20 957

\

33 of 80

jmontchamp
Placed Image




z
tsO

fr
x

NM

oz

A<

N!
!!
.3

{

I

/
N=
ol
-

34 of 80

jmontchamp
Placed Image



z
A@NPO

x

n
ooo@p
oooqr
POAoO
{50Pc

@o5OZ
Faoqo
oNOO<

NNNN!
55@@T
..,.3
o@Po
5@{N

=m
H

o@@or
NONdI

@Poo

r-29.320
_ZJ.I/J

-24 '984
-,:::=:-_24.846

35 of 80

jmontchamp
Placed Image




sI
HI
ro
o

A_\J

*4(r

(t2r'f
.'P
v">
A.J
{F

&
5 \d"

I*-
J-f

_[ @l

ol
L

f- ol

'l
L

B=

36 of 80

jmontchamp
Placed Image




p
at
o
bl
r3.
o
F
g)r

ef
o
0-

.o
ol
0J
tl

i-. a
ar
ts-
:l

q

.U

N

}b(tr)N)FX

PPPPTU
PPPPO
co-l(rN)H
OUJ('HZ
+F-]O)d

f

o.)UJANFI
(o+(rPH
crLfco('6)
co N) co -l :E
LOAC)-JFl
XXXX

_ 40.132

- 33 698

- )a 7qA

- ta aoal

F

roPN)Hti

333:' A('A(':E
-lC)co(!Fl

o.) oi) _l tO
|F-lOlO

:3)3 --J (r -l lF :E
(,(rO)ON

NN('|E

3933 UJ-lOlPrO
\o('\ou)ru
o)OrcoNK

\.. 
i'

'.. ,/

\

L-t=c, /\

tu -"'f *t,
_., # {F
\"J 

.ib

"p

td

\

37 of 80

jmontchamp
Placed Image




O: oo 5tl 9, o
ddPo o 6E +{

o d< o {
r.5o O O

aJ 5er.J. 9tE 5@A d
f g oEf J -{o!Oo

-{r@d-.-.3

f < f l

+og o o
-.O9) x E JJdEI

>o<o P H
c)oH
afl
CdU)6N
Hq>NA
co ca ! ts
H J! g
i-JE
HhE
Oo
z

N

xNO

D
z
a,
3

IN
fo
! H PoP!

.5o.O
o oao6

PPO OO!@r
oooaaoooo

ON
! oP
. o.
ts OA!
PO. {O
{ONA P

{! o +l
€ ar +t 3 +

I

m
o
o

-r

!<
o@<-
oo€< oF

J- i i € o

o
aE
-m
RA
@ ==>

NF +d

gc
o@o q6

3!

HO
abo
-'or
o-(,
i>J@

F <O H
ttNO+Z pFAo6)

QP OF gN
N {O !O O.

F 6 .. ' . oo
lqoo o@oooo qooooo ee

1f
E
=

38 of 80

jmontchamp
Placed Image



!ooaoNF
2

fr
x

NNNooo@=

FFssFFFE o{aN@o5<

3;3;3B;i
NNNNNNNT
;-.iee6oqo!
:.....3
oPoaoo@
NAoPO@F
{oa{@fa

ll llE

r
H

NOON66NI
i-eOeo@oi

qSoooo6

--25 .68S
---25.538

-21.303
--------J 2L.L48

39 of 80

jmontchamp
Placed Image




+oo o o
*OO X 6
JJdEI
O<O P H

OH

+v)oN
q> N A
C= E F

NE
o

N

xNo
EOO

+D

DO
ZC
U,A
=(n
HH
-{tl
+oH
md50
F P FtsOZ

. C@' O
o @p@O

PPO PO06.
oooSoqoS F

tE o +f
{'+t-

m
o
o

-r@
FO

ooo

oo' o=

o!
eoFU)
oHOa!

aurorm
-!fiDc)

EO-Urc)H
5 -.1 >=o u, a=>

<O H O O -
r@tzNtsdd

tP oot c) e{o
@OOOOC!'.CC

o N @o Poo o oNo qq
@N6..OJoOONOO
oPoo 6@oNoo e J<ff ooooqe

o 3 eo E+= o @
+dPo o 5E +{

-rra€o + JoJ.J. 9)?5oGd
E!++EE = @E=J -{oEDo

! r t@dr.J.3
o o f 3E

L=

3E 3 3 0 f
+r€ 3 il

a

@
P:.)
OA 3 F

l) d< o €
J.5o O O

*
J

-tl

\,
-o

\

<.

{

1

)-:
fo"fi'

T-

.t-

[* ol
' -.1
El

t

!

{@

o

;

o

6

5

N

o
@

I ol

i"l Ni

lo)

6

N

E

40 of 80

jmontchamp
Placed Image




7
-\I 

-n
€-* 6...1

(;14IL
d'tl
rrl

_61.524

_ 43.54si
.^ ".^i - +v. I rzl

_ 2A e24l

l
_ ta qqal

_ 12 7s31

41 of 80

jmontchamp
Placed Image




z

m
x

a
@F

oo

.r
!Z
@O
o<

N!
q!
'= N
!

o

-
ts6)
N-
o+

;

42 of 80

jmontchamp
Placed Image



z
OOAONtsO

m
X

!
NN6@OOF
{oo(Door
@tsoN5OO
!@@oo@c
r!..!rm

oooooPz
oFNOO!()
PN!@N@<

NNNNNN!
o@{!!!!
......= oFNOOO
QO5!NA
oao6oo

m

ooNooo=
@!PF@o+

5@O6@O

27 .523
27.379

-23.L64
_23.033

_27 .648

vlt.tq6

43 of 80

jmontchamp
Placed Image




i@q o o
-.O9, X E
lJdEl
O<O F H

OH

+@@N
a>N5
g= g N

-JE
ME

qegeee !ddod o=e@E+f'D@
3E33Or {€O+f d+P4@sEd€
n€3 n {+1

rrE+>
oFc)
r>o
ozc
o0
c3@
!H
--{J{
rb{OH
Vom+5O

FOOoPFPPOZ
@ ! O. . E€. O

ts 3 () o oo e ots@O
OA f F OO. O- PPO POq@.
ooofo6 oo@5P oooSoe@aF

D+<o€ --aa€@ It
J.50 0 0 Ep ++oE =

EJ

o!
eoF
oHO

avro
-!n

EO-U'
5 + >=u'

<OH
| 5l tz

tP o@o o

o N oo PNO a
O{O..O
5500 @@oN@@ q

N

XNO

f < f f

.4

L. i ,is

.1

ll

n

-_ {'

oE fo@ d
J€ o! O o
.lr @ d r.J.3

U'
a!
-m
>o
c)H
v, ==>

Nts dd
o!o

oNo 6a
oooNo o

\*

;,/
'-i-l

.v

.*- {

o

e.
\l

F

N)

F
e

Io
3l o'l
-L

.I
Bl-

t

-l
L

[-
-l ol

bl
I

a
o

I

44 of 80

jmontchamp
Placed Image




z

n
x

oC

vZ

N<

NT

'- !
!

I

P6)
NI
ol

oI

@l
oL

45 of 80

jmontchamp
Placed Image



z
5ANtsO

h
x

a
NN@OP
o@oah
o{ooo
ooSQc

5Ao@Z
oa@{C)
P@{O<

NNNN!
60!o!
..'.3
oo@o
o@oN
oFoS

I

m
H

A65OI
6F@ts+

-28 .024
-27.866

-23.681
t? qqo

46 of 80

jmontchamp
Placed Image




*f
Nl
^t
ol

NI

;l

FI @l
'l

L

47 of 80

jmontchamp
Placed Image




in""

:, Jg q)
F

\r tv
'""0 

P= 
t*r

= __oa
\
/
E\,t

- 46 413
- 429451
-- 3e 4e5l

- 33.674

a6,6tc
-20 2O3'

\

48 of 80

jmontchamp
Placed Image




I-

z
r
x

6Z
6c)
o<

N!
o!
.3

N

I
r

P6)

o-l

;

49 of 80

jmontchamp
Placed Image



z
A@NtsO

n
X

NNOOF
o@5Am
@oF@o
@@!oc

@Pooz
@o@Fo
oooN<

NNNNT
o@o@!
....3
O@PN

oou@

m
H

a@@@=
oooo{

NANA

-28.293
-.._28.135

-23.943
-23.825

50 of 80

jmontchamp
Placed Image




qqqeeq E+dod oJeo6+f o@ noe o o
3!3=Of {EO+f d*tsooEEd{ -.Ot, X 6
n|.3 - {+r JJi E I

ii!-.llo<oPH
aPOoH
m>afl
()ZCdV)6O
O U' H DD N P
c = @ c= E !
T H H @! g p
__lJ_-l-JE
m O -l O H Nr
v o m + 5o @ lt

P @ @O F P PFOZ N
o.o-g@'oN
pf(1oooooP@6OOo
oa f P oq. u- PPo Po6@. XNo
ooofoo oo@5P oooSoo@ats Eoo

5gJ.r. ')! J@q d
ap J r J{ @E O o

n 6 d J'J'3

oa!
o-r
frDc)
ooH
@ u) f f D
H OO-
ZNFdI
o olo

oNo @6
I OOONO O
J< f f oooogg

od<@t -rrr€o it
r.-@ o o EE iiEE :

o

OH
a(,
r!

= -l DJ
<o

l@d
Its OOI

ots ooo c
6 N Q@ POO A

ts! O . . O
oPoo NooNoo e

Ir
1i .)

t

(

{

i'
<)
't

l)/

t_ _,
":,

,t

6

;

N

!

-f :.1 !t
-L

N

("'. 
\

51 of 80

jmontchamp
Placed Image




,4l'
\ .1

1

L--F.{=o
='i. 4'"

7

--:-t'^r'r'r'* --==-125273

- 43 383i

- 34 554,
- 30 1431

-toaa1

l

52 of 80

jmontchamp
Placed Image




z
QNFO@@!6Or5arN)PQ

X

Bt
rt
l-

R
4

PPNF

SSAOOqO@@@A!Am
o!@o60!660@6Qo

:::3:::::::::s €!5QoO!@O5N@OZ
!Q@OQ!aO@@@!5O
ao!Po@NQN5@O!<

PtsFNN@5O!!
,...!

JJo&@@@6@oo@\=
ts!4Q9600@P!60
oNo5@PO!N5!NO

PNTFFFC

o@o!@!oNo!oo0

-t

-]

5,'

ii

-*T--

53 of 80

jmontchamp
Placed Image



9LAeeqe E d*@ +

1?f.q= <!rj;5 xJ33r+:3€ 13F * -<5 n f +-
- - 

'i 
+ 

J-d E
o rj t";. 

F

fl=€:(!,a 2|4.HzD>N
= : (, o= !

-J

s ESil sg sh -lSiFPeoPrio
!<pEst'50'ooN

iH.i-= isllf ;;3-r33H: ::;
!rE 5o@ d
-{ 6E o o -i@+d.r.3
I o f f E

U' t!
-m
Pc, g)H

@ 3i>

Nts d+
ooa

obo 6@
oooNo Q
ooooqq

nr 5e**

HO
(no
ET
- (/D
Df 6
<O H

&z

Ja - I { @
E! n+E!

-
i

rtNo
NP 5O
@o 6P
oN !o

O{oOoo

N
tssq
!@oo

O +< o { J.5o O O

o

CN

qo J< f 3

E

54 of 80

Montchamp, Jean-Luc
Placed Image



H

z
voqS@NFO

n
x

a
PNNb@@P

5O@66Oqr
@o{@Po50
NO6!oF!c

...n
oo@oq60z
o6a@@qao
-. *1. * 

i 
- *

OONNNNN!
. . 55@@@!
6{. . . . . 3
60qo@oN
5000N{O

AN{@O

Ir
tl

h

o(, C)
NqaoooN-
' . {tsOOO-{
F@! . . . .

ooqS@

29.203
_29.078 --------------\- 

za . s z z

-?4.682 --------------- *24.534

_8.730

_3 .564

55 of 80

Montchamp, Jean-Luc
Placed Image



6-
v

$-- qJt

lr
1\

5 {i"
{.,-
4"'

F
*
z

)
f
\

-\
I

,/\

Z:= ?

^l

: 'l cD- FI

o

o

oI
@l

hl.

[- 5l
ol
bt @l

t

56 of 80

Montchamp, Jean-Luc
Placed Image



g.e9!Ose !dd@+ OjeoF+,fO@ ioq o o
?9=3gJ €qo+r ddPoodEd{ -:oo x q
-+= a <n- JJ+ ! t

a a ! -.1 Do<o ts F
oFC)o
qr>ofr
ozc-Utq@
o@AUI>N@
C = AJ o= E @
! H H E! c
r{5-.1 -r
r @ -t O H Nm
Eon+500

P@OoFFptsOZ
a!o!.g6.oN
P :t o o oo o oF60 000
oA : P oU. q= tstso FOq@. XNo
o@a f oo oq@sF oooaog@sP E oq

o! 50a +
-{ oE tD o
+ @ + J.r.3

a!
-r
>o
6)H
(, ==>

NP dd
o{o

oNo 66
oooNo o

O!
qoF
oHo

a(Ao
-'oil

€o-(A
5 { >=O

<OH
ro+z

tF oot c)
@o ooo c

@ N OF POO A
SOOf

5{oo o60Noo e f<ff

9rd<o{ -11ato + 5eJ.J.
*f@oo EE+tEE f @Ef J

E
E
3

[@
-l .J
5l

t

3I 'L

-l ol
L] a)
-L

o

o

o

o

o

57 of 80

Montchamp, Jean-Luc
Placed Image



of eo6+I'D@ i@q @ o
ddts@o6!d{ -.OO x 6

JJtEI
+ >o<o ts H
!oo
Dol!
zctQ@@
ah R a> N !
= u, o= ! E
HHdlC
ll--
--{ NH n
moo@
v P tsotslz

.ao.@N
o @t66 OOO

QOo OO!@. X NO
NNOAAOOOO E OO

E ddo d
tE O nf

t +r
1

r

c

-n

'D! JO@ d
J{ oE g) o
+@dJ.i.3

(t
a!
-m
>o
OH
U' =J>

oo-
Nts dd

ooo 66
oooNo o

o

a@
-!

-l Df
ts <O

I NO +
N50
O OP CN
05 {O A'

oo
@PO@OO aO

ON

. o.
P OA!
PO. !@

!<
oo < :
oo{< op

@
@
H
z

f (< f f

Jd
g*<aX r--r{o
- 5o O O !E in!!

p

o@oo

4

f,"] l'i

t-i ft
i

@
e

\

ct)
o

F
o

co
€

N)
o

(Jl

e

58 of 80

jmontchamp
Placed Image



z

m
x

- NNOO@F
o@o@4fr
N55000
6P@!NC

oN!oNz
50@oso
505N@<

NNNNN!
oo!1!!
.3
NOO!@

=

OSoaF-
60@@oi

;L;;:,

59 of 80

jmontchamp
Placed Image




+' )l
19

A

\

i

.)*

I
o

=

60 of 80

jmontchamp
Placed Image




.-

oleoqif !)o aoq o
ddPooq!d{ -.OO X

2J& E
-l >o < o
voo
>ol
zcda@
@HolN
= u, o3 E
H H O! C
li-r
-l NH m
mooP
F P F@F!Z

.a6.6N
o oao@ oco

ooo oo{@. xNo
5AO55OO@O ! OA

{! o +I
{ +-

f o-.-. g)p =o€ d
6E a r J{ @! O O

a@d-.-.=

or!
o-m
m>c)
@6H
(t (, f:>
H oo-
ZNPdd

c) o@o

o@o @@
: oooNo o
f< I f ooooeq

n{ 3 +
a

I
m

c

-m

{<
oo<-
oq€< oP

o

Df
<o

! oP
. e.
P OA!

!ONAts

P d< o { r- - a { o
J.fooo !?in?E

!
?-

4
F

llNo
NP AO
oo @F

N @O !O
FO

o!oo @@oooo

..9L a

tf'

I

rt
o

v{

\

o)

(,l
o

F
@

o)
Q

N
o

P
e

61 of 80

jmontchamp
Placed Image



eqeeee Fd+a+ of eo6af Do 16d o
3?=3O: {Eo+f ddP@o5!d{ '.op) x
+€3 -i {.i- rrd !

- 1 I I >O < O P
a'oc)o
mDA=
ozcdu>@
o A H o> N
c 3 (, 03 !
! H H O! C
-i--l-
E FF I NH M
! oN m oo P

! OF P P F@P!Z
o.o.'5O.ON
!<P@5!o@AOOOOO
o@ = = tsO. !O ooo oO!@. XNO
oo{foF !oN5P aao550000 !o5

oE f4@ d
J€ @E 9.r o
+6dr.r.3

a
a!
-r
>c)
6)H
o ==>

NP dd

oocNo o

-r a r € o +rr

HO
aAO
-!m

-l Dl co
P <O H

fNotz
qt 50 C)
ON OP CN
@! !O A.

oo
J<: f

O d< o {
r.5@ O O

f

PO o

lr)
X

Y
r' o.C

.--.9
n

@
o

\

ct)

5
e

N)

P
o

62 of 80

jmontchamp
Placed Image




a@o o @
-.O! x 6
!!dEl

>o<o F H
ool

cdaas
H O> N
(n o= !
H O! C
l-

OF
=N

xNO
EOA

Pd<@{ J-ar{o i fgr.r' OE5o€+
-.fooo EEii!! = @E= r J{oEoo

E J +@d-.-.3
O o f JE

aoF@
oHOs!

auto-m
-!fr>c)

!o-aoH
f + >=@ (, ==>

<o H o o -
I ar t2 NP dd

tF o@o c) olo
AFoooc..tgg

qNNOPNOOONO@@
o o o : oooNoo

!@oo @!oN@@ g J<3f oo@oqo

o f qo gif o o
d+Fo 4 6! d{ 3€ 3 = O f {E O if

+t3 n €.r'a

m
o

c

-mo
Fo

P@@o
@!o.
P f c) o oo
oaftsoo.o=
ooo I o@ oo@sP

-.1

D
z
a
3

io
mda
iO ts PP@

. C@. O
o oP@o

tsFO PO O@.
oooaooeaP

r0o
3I
ol
5L

nI
3i ol
NL

{-

F
N)

I

N

5

o

o

o

N

!

o
!

63 of 80

jmontchamp
Placed Image




i@ a o o
-.O') x q
Jrt!l

>o<o P H
Ool

cdu>@a
H Q} N
(2 03 s
H O! C

H Nfr
ON
z

N

X NO

Od<o{ -r--{@ -tr- fe-.-. OEro@+
-f@oo E!++!! f 6 oE:J r{o!po

! r a@dr.r.=
o o f t!

oanch
He-!

a@o-fr
!-!fr>o
fo.(noH

1 >= @ a ==>
P | <O H OO-

ttP@PdzNFdd
Ats P@ts C) O@A
o! @oQ c P g c

@ N OO AlA q. OOO 66
P! g . ' O o I OOANO O
NNOO @OO!OA eO l<ff OOoOOq

o = d6 g lJ I q
ddFoogEd{ =E = = o r €E o r:

n{= + t+r

D

!
-m
p!

@ !o
o . @.
!<N{Ac)
o@<IUO.OP
o6{< ots o@NoQ

I

z
@
3
H

+--l 
P

m@
F ts FOPO

NN. OO. o
ooo 550!
OOO Oe@tsi
oooSDoNO€

n'-,

)--; \

a. :l

v' .'.r''* !'"'
rf
\./ )

\lr
5.>CI :*

/
/
\

/
-/

u.,

a

tJ.

F

0)

N)

f\)

r\)

P

5

ts
N

F

o

o

ct)

5
e

N

64 of 80

jmontchamp
Placed Image




o dd@ d

{! o nf
t +-

oe<aa -.--{o
-.5oOO !E++!E

. o.
P @5!

iJ f o- !.

:6 aE = r

f
t< l:

60V HO
a@c)

!-!m
i o r- n

e <O
I I NO + z

NPaoO
@P OP CN

N @@ !o q '
! o oo

@POe @@oooo qo

p
-Y-

s/ |{'
't'

f)

)--. l)

D

g.
1l

l,I

S'r

of q@6iro9 nq9 6
+dFoo6!d€ 'OP x

r!& g

r >o < o

Dof

A = *o93
= (, !3 !

l-
--l NH Pm

n oo o
F P P@P!Z O

,a6tQON
o OAoO oOo

tsPO Oe!@' X JO
oooaaoooo E oo

i€ = +
-0

m

!
-m

o@ < =
oo€< oP

J{ oE O o
i @ d J.J.=

a
T!
-m
>c)
c)H

oor
Nts d-

o@o a o
oooNo o

_t ^-

l

\

CD

(Jl

F

N
e

65 of 80

jmontchamp
Placed Image



66 of 80

jmontchamp
Placed Image




Xg

I

I

-€

oaoaea !ddod oleoonloo +oe
=!==of {!Oi: ddFoagEd€ -.oD
+€= + €n- 2r+

. - ! --l >o<o
avc)o

ozcd@
o a H >>
c 3 a E=
! H H -!
--4f--l-
fi @ I O H Fm
F o - d 50 q

P@@oFPFPOZO
o o. . c@. o oN
P 3 c) o oo o @ P@@ o Oo
o5 I H Oq. O= tsFO POO@. XJO

ooofo@ o6@OF oooaog@aP EQo

Od<o{ ---r{@ $ 5q-.-. OEfoAd
:.fooo E!nn!E I @Ea- -€oEoo

! J 

*:d:::

eoF@
OHOAT

a@o-m
-!m>o

Eo-(2oH
f + >3@ @ -=>

<o H o o -
I ar lz Nts dd

I F O@6 6) OlO

oN @oo c ... cc
oNotPNtsooNo@a
@ 6 O I OOONOO

N!OO OAO@@O O f < I f OeoOgg

ITi

{*-1

l
*il,

/"

Lfl,r

{t 'T
r"-
5rI

!

1

\

l

I

\

N)

I
o

=

:l
s

:f a'l

:JsL

:I ?l -:j
3t

I -l .l
sl
-l

-l 5
e1

:- l-
3L

o
!

N

67 of 80

jmontchamp
Placed Image




eeggge Edd@d o:eo6+f oo +oq o
=E==Of {!O-3 ddFooEEd{ -.Og X
-t3 n {-- JJF !

- - 3 -l Do<o P
ovc)o
dDaf
ozcdaa
O U' H DD N
c I ut c= p
! H H @! g
r-ll--l-J
n o -{ o H @n
v o m d ao ts

tsOOoFFPP@Zc)
@.o!.9@.ooN
PfOoooooP@oooo
oa : ts oo. o- FPo Po6@. xJo
ooofe@ ou@@F oooaoeoaP Eoo

oE 54@ d
J{ oE O o
+,@d-.d.3

a
a!
-m
DO
OH
(, ==>

Nts ++
o{o

gc
oNo 66
oooNo o

O+<@X --1i{o + JeJ.J
J.5@OO E€++!! = 6E=J

o!

oHo
av)o
-!m

J -l >=b
<o H

to&z
tp oot O

{o 600 g
PN@!OOO6
!oof

oooo oNo@oo 4 f(<f f

eUJ
J,

el
L^J
N
r

fi'\
-i

h

?
J

b

!

":,

t al 'l

-l
L!

-[
;l -[

-I 3l

t

N

!

o

I
N-1 :

l=

68 of 80

jmontchamp
Placed Image



3€33s3 EgqiE 3i33H*;3E ]q[ * $ .1= * :.; _r po:b F ' 
H 3 E5 cda6
ij1,4-Ho>N (2 03 !

H d! c
--PH tsd

Foo! n- 
rci i e i3i*z 9^.

3 < L 3oo --o EEi!:j c 69

in.i-= ss;gB s33-33suL 5da

N

e

P
@
o;.'; 

-j o-E Ag'o I i@-J'J'=

o o f f o

o
Fm
>o
ii ==> - oo-

NP dd
o@o

oqo aa
r oooNo O

5<:: ooooqs

Ji i a € o _hr
Ep ++EE f 5

oF
HO

-60
;!r

2 i=E P<OH
r tsut + Z

ppoeo
o5 oao gF
oo 550 a'

oo
ooo{P@ eo

p d< o {
r.5@ O O

o

NN

@ooo

=

P
CD
e

D
e

F
N
o

ts

e

69 of 80

jmontchamp
Placed Image




\

2

x

oo
NC

6Z

o<

N!

.=

FO

N=

^

-.{-oao3!a
o -l-t€o !m@F<D!F @>ut = n(4> o
; -.-rt6oooDojoco r3o - *P-

bo:>iiion daa) od- a -3o a
1*6-+Fr<6Evt+. aP c*< o o!J <

N !Nr.a!<oi OX 1oo

* iOpcOn oA-.O ldd o ! o o

-3POc)ooo d@3da @ " o =a !

oog6 c !-.oo. o od E o*a
AdAao o=AFO or ooO o @a-' a

' 
oooo6J@tsP-., P I @30I TO- o

s:Hd< - - O@' qK @Ec) o =oo o
= .zc f oo oJ o o+o O
* :O-O oPo=ooF aO " FOt+ c

= e-9ri op N!-' :o clo E
- d oP oo =t 6 Ut<-

N O @oO oc N "< O
d ' e o5 000 -a E " a
Q O OO O o o g

b{ 6 C i \
6 - NO O - o
o N o6 o < x
O 6Q E E

5@ : 9

==;d
r= a \
NN O :

:Y
=

70 of 80

jmontchamp
Placed Image



z
5ONFg

x

NNO@F
!!o@m
!@oNo
6!6@C
....m
oNooz
@ooqo

NNNN!
N@!!D
....=

I

o
NNNOI

;;;;

dI-Beo o -33-<oo n to.. 3 -ro g
- ---{>fioC)oo*oco -3o - *9-

U6->- i{om esJJ oqr 6 -3o
.r*o la ocpad. oo c-.< o oEf <

N !NCO-!<O] Ox aOO I
+6 5F | - - -nt d . <= = a o <
+ -OFi.-Qm O5-.@ ldd o ! O o
gFO.)of *d d@3oa @ .. o =o
o o, - @: !-.oo. o o+ a o-'a

@1a3 OA-Ad@ oJ Ooo o @-* o
o@oOOo @FF-., p O @3O f !oa O

s=Hqo9 - - O@. aK @gO o =oo g

= 'ZCJO I oO or O OdO !
* aC)-99 @Fo=€€H ro " VOt
f o O<C oN N!-. =O C-O o

'+-,oFoo3d6@<-e
N O 6 . . O O O O C N ..<

O . d !. OA O O O I a ! "
@ o d oo o o o c

'. 6! @ C J \
6 z O No o - o
o N : 06 o < x
o oo € €

5Q : 9

=s n' j
== @ \
NN O =

oO

I
n
rci
=

71 of 80

jmontchamp
Placed Image




T
c n(2D
- -.D -
4 '= o
o o! f

(, @<
o!o

o zo o

" O+
-o

N '.<

X

-
f

=o
I

c

a

=
1

\

i{- ;L

Fr
@l

;l oL

:f s ''1
@L

-f .J

q

72 of 80

jmontchamp
Placed Image




H

!BS::;;!;;![s3:-@!oosops€
X

NNNNNNNNNNo@o@ 9599*F
- e Ai. ao po@ q o o! !6 o Po oo oo@ !m

6o a@ >5oN---tpoor aoao@!Poo

:; ;oF@ oF@N65o A@F6O@ooq@ {c

No!@ !!5@@6AFoN@ao!a>6aooz
@@Pooes!N@oo6oa!o5@!Fo@oo
@@o5o!@aor-5ioso@@Fo@@oP<

tsPNNNNN@oooooooaasaq99:P!
;i! ;; i- s ooe o soo o@o Pa @ts 5!@ o!

. . . o=

@ouo!FN{o!65@oo! !aQF9!f '

6-;;; oo or@oN a@ o !o osoo @oi P

;oo; €o oo!A€N@aN@!@@o!6@o

ts

o

F
o

F
N
o

=
:

;-**PFPAPPPF FNFPPP T

;; ;;-6;. ;;b os 6N Noo 6ooooo5 Nr

tp-oN5N@@o@@ooNNoPo@@@F'

P

73 of 80

jmontchamp
Placed Image




+@ e o
-.O O x
rJd E

DO < O F
c)o

cd(ro
H('>N
(, o= !
H !! c
+- HM
ON
z

N

xNO
EOO

9rE 5O@ d
r{ o! O o
{@dJ.J.3

@
a!
-m
Dc)
c)H
92 3f D

oo-
NP dd
eoo

o@o q@
oooNo o

-{
D
z

=
-t
-iN
ilo
F P FOP{

.ao.o
o @a60

@@o 0o!6.
NNC 4500 @ o

o f e@ 6-rrf o @
++Po o dE d€

f < f 5

OF
HO
ao
!m
-v,
DJ@
<o H

*z

EP

3E 3 3 o J tE o +f
+{= + €i-

d

c

-dPP
,o oN

{ots
o.o.
! (< P @5!
o6<-Po.{O
oo{<ots {oNDp

O +< @ { 'r - a { @
J =@ o o ?E --!!

E-

tNo
Nt 50
@6 oP

N @! !o
POO!.
NPeO O@O600

n

74 of 80

jmontchamp
Placed Image




z
NtsO

x

d
H

@{r
5P+

oq

75 of 80

jmontchamp
Placed Image




eeeeeg E*dod Of q46nf P@ Itog o @
=E=3oJ t!onf ddPoo6?d{ -ogl x E
-{= + {+- --& E I

r i E -l Do<a F H
oFc)oH
il>Df
c)zc+Urao
OU'HA>NN
c = @ 03 ! o
! H H !! C
-+fl-J
m@--lOHr
For+50N

P @ OO F F PPOZ
O ' o. ' C@. O N
PfooooooF6oooo
oa f P o6. o= PPo Poq@. xNo
oooloo oq@5P ooo50g@5F god

DE 5@€ d
-€ @E l, o
+,@dr.i3

a
a!
-m
>o
c)H
o =3>

NP dd
o{o

oNo a6
eooNo o

lrd<o{ -rai{o +
J'5000 gE+iE! =

qgF
oHO

a@o
-!n

EO-U'
5 -.{ >30

<OH
ro+z

tF oot C)
P OO OOO g
F N OO POO @
ooo

oPoo oNoNoo q

5qJ.J.
OE: J

t< f f

;r
*"

(

:
"rtt

f+Lla
$

6v c,=\

o \

o

5
N

o

a

!

-[
b1

L(".,

o

a

@

76 of 80

jmontchamp
Placed Image




X

aa

3E

..Q D

>o < o
oo

cd
H}

aa

I
FN
O@
z

X NO
! oo

J{ o! O o
i@d-.i =

o
a -3

oo
NP dd

oao q @
oooNo o

!
9F

aa
!r
-Q

<o
nz

O

!

o
I

@! !o

;; o;; o

oo < I
oo€< oP

a - a6 6 t= / a
ddpo o q! +{

f 5 6- = J

ao f,< f, l

{ +-

m>

oa

!H

M Fts i
! oN h

! OP F

P @A!

aaaaac

+{ = +

N

P P@F!
.ao.o

o @ao@
OOO OO!@.

3/
to
w

/d<64 J.--<6
-.Jo O a !! ilE!

=o

\

T
m
g o

l g)

-l

j
I
l

66\

'a)
/1?
b-q
(f
i

I

1"^--'r, a-/: l\,".
q, g5 7-'1'.
s-v
v

_.*"{&
{1s
lst"s1'

.L
,,f ;{""
FL*-p

I.t

f! *-i
A*
\l3

i
w

.*'

2? '46
ft

$) r. 4u
r'T

ffi

l"

g

j
L,lr
{

I

^il

'l

\

i,,fii

I

t

I

{i

Pi

I
I
l
iI

-l

fil

-l

C)

77 of 80

jmontchamp
Placed Image



78 of 80

jmontchamp
Placed Image




ll

ll .t
rlrr

illr rli
tt {1
:il r

si ,t, ,I .

*,
1r
I

I

1j
I Fl
I

l rl
rl
il ,l

l oJl

I

1l
I
l :r I

P'rNL *-rl
ai I
lt l *-'f i al

.1

a: i l
.1
F P-i
N

Nl

.l
@l I
oLl

I

I
I

| _.J
-l

.l

l
l iE-l

-l

79 of 80

jmontchamp
Placed Image




3.

[']
Bl

Ei !
q
Io
FOJ
)f

tll a',
ft,
P-i
Fl i
\Cl

.U
t!

O(OcO-lO)U]AUJNPX

JJFHHFF.!H'U

f!NN)FJHFF.F-t-t--O

o.)POCO@@-lO)(rOF-r
o\oo('u)N)t!oaooz
O\P-lPOrNAPf-Ui€

IE
OTo.TNFNtsOl ts L-!
P(-ntO-l(O@tNlO@tgl--i
c)(JruJA-rcooto(,(oO
Oro.)-J(!N(,OOco(rJEE
J(rJ-lO(nF6,r61 Ai
XXXXXXXXXX

T
Fl

(o\osNsNloFNJ-
OO)(rLr(r-lsA-.1 4.

Oo\(1)o.)co-l(trJ(n(1)Ol!E
O(rO\Ots(n'F\.o\OAFI

l!iFCrOrOro.)o.r-lco\O
-IOTANNU)-lUJ('O)
-J(r\OOOrtr-l(]Jts!O

(!CON(rcoA\O(oOrO:E
ts o.\ (J] P Lf -J tn Or o.) N) 0.1

-

HI\)NNNI!N('UJA

:3:::: v v:: N('t!AO)(OIOAcrjCOTO
(t@OrOlOCOLtrNJMrO
+PLrs(rO)ts('(nOE

_ a) a1n

__37 625

- 29 951

-al,FiF]?

- 20 5A1

- 12 251r, l

\ 80 of 80

jmontchamp
Placed Image




